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	July/2019 Braindump2go 200-150 Exam Dumps with PDF and VCE New Updated Today! Following are some new 200-150 Exam

Questions:1.|2019 Latest Braindump2go 200-150 Exam Dumps (PDF & VCE) Instant

Download:https://www.braindump2go.com/200-150.html2.|2019 Latest Braindump2go 200-150 Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNVmxoUEhTTmZZMXc?usp=sharingReal QuestionsWhich three

layers of the OSI model are included in the application layer of the TCP/IP model? (Choose three.)A.    2B.    6C.    3D.    7E.    4F.   

5Answer: BDFReal QuestionsA customer wants to connect to their SAN via Fibre Channel. Which two devices can be used to

provide connectivity? (Choose two.)A.    Cisco Nexus 5548UP SwitchB.    Cisco MDS 9148 Multilayer Fabric SwitchC.    Cisco

Nexus 2248TP GE Fabric ExtenderD.    Cisco Catalyst 6509 SwitchE.    Cisco Nexus 7010 SwitchAnswer: ABReal Questions

Which two statements about configuring VLANs on the Cisco Nexus 7000 platform are true? (Choose two.)A.    Software updates

are disruptive to VLANs.B.    VLANs with the same number are unique to their VDC.C.    VLAN licensing is required for use.D.   

To change VLAN information, the administrator must be at the switch (config) # prompt.E.    The command copy running-config

startup-config will save changes to the VLAN database.Answer: BEReal QuestionsWhat two actions can be taken to enable

inter-VLAN communications in the data center? (Choose two.)A.    extend Layer 2 services to a Layer 3 capable VLAN using Layer

3 tunneling.B.    use a routing protocol to direct packets into the Layer 2 networkC.    connect Layer 2 VLANs together with 802.1Q

trunksD.    deploy a router as a Layer 3 services gateway attached inside each Layer 2 VLANE.    install a Layer 3 capable switch in

the data center.Answer: DEReal QuestionsAn engineer created three VSANs on the Cisco MDS switch. VSAN 100 is allocated to

the marketing department, VSAN 110 is allocated to the research department, and VSAN 120 is allocated to the business

department. The engineer wants to verify that the interfaces for the research department are allocated accordingly. Which command

should the engineer use?A.    mdsswitch# show vsan 110B.    mdsswitch# show vsan membershipC.    mdsswitch# show vsanD.   

mdsswitch# show vsan usageAnswer: BReal QuestionsDrag and Drop QuestionDrag and drop each port description on the left to

the port type on the right required to support it.  Answer:   Real QuestionsWhen command set will create an access control 1st on a

Cisco Nexus switch to permit only unencrypted Web traffic from any source to destination host 10.10.1.110?A.   

N5K-A(config)#access-list 101 permit tcp any host 10.10.1.110 eq 80B.    N5K-A(config)# Ip access-list 101N5K-A(config-acl)#

permit tcp any host 10.10.1.110 eq 80 N5K-A(config-acl)# permit Ip any anyC.    N5K-A(config)#Ip access-list 101

N5K-A(config-acl)# permit tcp any host 10.10.110 eq 80D.    N5K-A(config)#Ip access-list 101 permit tcp any host 10.10.1.100 eq

80 N5K-A(config)#Ip access-list 101 deny ip any anyAnswer: CReal QuestionsWhich type of media uses electromagnetic waves

that are generated by lasers, is often used in campus backbones, and is capable of transmitting to a distance of 60 kilometers?A.   

shielded twisted-pair cableB.    coaxial cableC.    multimode fiber-optic cableD.    single-mode fiber-optic cableAnswer: DReal

QuestionsWhich two terms can take the place of the wildcard mask in an ACL?A.    eqB.    denyC.    hostD.    allE.    anyAnswer:
CEReal QuestionsRefer to the exhibit. Two Layer 2 Cisco Nexus switches are connected to application servers in a data center. 

Server A cannot communicate with servers that are in VLANs 3 and 4, but t can communicate with server B and C. What is the

cause of the problem?  A.    inter VLANs routing is not enabled on both switchesB.    Switch I and switch 2 are not physically

connected via an access link.C.    A router must be connected to both switches and provide inter VLAN routing.D.    Switch 1 and

switch 2 not physically connected via a trunk link.Answer: CReal QuestionsWhich option describes what a switch does after it

items that a host has connected to a switch port?A.    Flood the frame only on all of its trunk ports.B.    Create a MAC to port

mapping entry in MAC table.C.    Flood the frame only on all of its access ports.D.    Discard the frame.Answer: B
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